Physics 305 — Homework Set 8
Due submitted to eCampus no later than 5 pm on Thursday, Apr 9

Do the following nine problems from Griffiths:

10.20 (pg 462). Only worry about the fields to the right (x>x") of the particle.
For the special case v = constant, also reconcile your answer with Eq. 10.75.

10.27 (pg 463).
10.31 (pg 464).
11.2 (pg 472).
11.3 (pg 472).
11.4 (pg 473).
11.7 (pg 477).
11.8 (pg 482).
11.23 (pg 497).

Note: The answer key for this assignment will be posted shortly after it’s due. However, it is
unlikely to be fully graded before Exam 2.
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